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QUESTION 1

Which two tasks does the Pluggable Storage Architecture (PSA) perform? (Choose two.) 

A. Handles I/O queueing to the logical devices. 

B. Handles physical path discovery, but is not involved in the removal. 

C. Handles physical path discovery and removal. 

D. Handles I/O queueing to FC storage HBAs. 

Correct Answer: AC 

When coordinating the VMware NMP and any installed third-party MPPs, the PSA performs the following tasks: 

Loads and unloads multipathing plug-ins. 

Hides virtual machine specifics from a particular plug-in. Routes I/O requests for a specific logical device to the MPP
managing that device. 

Handles I/O queueing to the logical devices. 

Implements logical device bandwidth sharing between virtual machines. Handles I/O queueing to the physical storage
HBAs. 

Handles physical path discovery and removal. 

Provides logical device and physical path I/O statistics. 

Reference: http://pubs.vmware.com/vsphere51/index.jsp?topic=%2Fcom.vmware.vsphere.storage.doc%2FGUID-
C1C4A725-8BE4- 4875-919E-693812961366.html 

 

QUESTION 2

An administrator has configured three vCenter Servers and vRealize Orchestrator within a Platform Services Controller
domain, and needs to grant a user privileges that span all environments. Which statement best describes how the
administrator would accomplish this? 

A. Assign a Global Permission to the user. 

B. Assign a vCenter Permission to the user. 

C. Assign vsphere.local membership to the user. 

D. Assign an ESXi Permission to the user. 

Correct Answer: A 

Global permissions are applied to a global root object that spans solutions, for example, both vCenter Server and
vCenter Orchestrator. Use global permissions to give a user or group privileges for all objects in all object hierarchies. 

Reference: http://pubs.vmware.com/vsphere-60/index.jsp?topic= %2Fcom.vmware.vsphere.security.doc%2FGUID-
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C7702E31-1623-4189-89CB- E1136AA27972.html 

 

QUESTION 3

Which two options are available in the Virtual Machine Component Protection (VMCP) setting Response for Datastore
with All Paths Down (APD)? (Choose two.) 

A. Issue Events 

B. Power off and restart virtual machines 

C. Reset virtual machines 

D. Leave Powered On 

Correct Answer: AB 

Reference: http://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.avail.doc%2FGUID-
F01F7EB8-FF9D-45E2- A093-5F56A788D027.html 

 

QUESTION 4

An administrator needs to recover disk space on a previously-used thin provisioned virtual disk. The volumes where the
administrator needs to recover the disk blocks are on VAAI- compliant storage arrays. Which two actions should the
administrator take accomplish this task? (Choose two.) 

A. Perform a Storage vMotion to another volume in order to force free space recovery to occur. This recreates the
volume in a new location and recovers all unused space. 

B. Use VMware Converter to migrate the virtual machine to a new datastore. This will recreate the volumes and recover
all unused space. 

C. Issue the vmkfstools -vmfs unmap command within the VMFS volume directory on the ESXi host console. 

D. Execute the esxcli storage vmfs unmap command. 

Correct Answer: BD 

Reference: http://www.boche.net/blog/index.php/2013/09/13/vsphere-5-5-unmap-deep- dive/ 

 

QUESTION 5

An administrator is upgrading a vCenter Server Appliance and wants to ensure that all the prerequisites are met. What
action must be taken before upgrading the vCenter Server Appliance? 

A. Install the Client Integration Plug-in. 

B. Install the database client. 

C. Install the ODBC connector. 
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D. Install the Update Manager Plug-in. 

Correct Answer: A 

You must install the Client Integration Plug-in before you deploy or upgrade the vCenter Server Appliance. 

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic= %2Fcom.vmware.vsphere.upgrade.doc%2FGUID-
CA16F78B-7890-4357-9760- AF8648806FE7.html 
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